Maths Ambassadors'’
UKS2 Easter Challenge

: Eggs How many of each size did she buy?

Mrs Choy spent exactly £10 on 100 eggs for her shop.

____large eqggs (50p each)

____Medium eqggs (10p each)

Large eggs cost her 50p each.
Medium eggs cost her 10p each.

Small eggs cost her 5p each. SmG“ eggs (5p QGCh)

For two of the sizes, she bought the same
number of eggs.

How many of each size did she buy? Remember she Speﬂf E.[O on 100 eg_q.s‘.

Name: Class:

Return completed homework by 2nd April 2020 to be in with a chance of winning this month's prize.




